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® 1.50( 0.10] 0.10| 0.0150 0.30| 0.10[ 0.0150 15.00
@ 1.10f 0.30| 0.30| 0.0990 0.66| 0.20[ 0.0660 30| 0.0198 46.201 0.30| 0.10| 0.0330 30| 0.0099 23.10
AN RS 36.00 67.10
7 1.1200 4.90 0.5690 0.2070 398.00 0.5510 0.2171 401.00




m

A 4 SR T K
AL E CLX (HILF556) i H C & (BZHENE LD TE)
B WE
= 1]
HAEBHAR
S| | O[R AT KM | ERD H T E A T
moA | BT R B | AR EEARE e B\ BOAT| O A | AR R AL EvvEE
(m) | (m) | (m) (m3) (m2) | (m) (m3) (%) (m3) (L) (m) | (m) (m3) (%) (m3) (L)
A B C D E F G H I J K L M N [0} P
NO A*B*C A*C*2 AXBF G#(1—H C-F AXK*L M#*(1—N
/100)%1000 /100)%1000
©) 1.50[ 0.70| 0.30| 0.3150 0.90| 0.20[ 0.2100 40|  0.0840 126.00( 0.70| 0.10| 0.1050 401 0.0420 63.00
® 0.80| 0.10[ 0.10| 0.0080 0.16/ 0.10[ 0.0080 8.00
® 0.80| 0.10[ 0.10| 0.0080 0.16/ 0.10[ 0.0080 8.00
AN R 14.00 13.00
7 0.3310 1.22 0.2260 0.0840 156.00 0.1050 0.0420 76.00




